
IN230900087V02_GL

IN230900087V01_GL_84C-471V00

T
o

o
ls

 R
e

c
o

m
m

e
n

d
e

d

2 HRSTEPS

 4



2



3



4

Gx2 Ix15 Jx1 Kx2

Nx8 Px34 Qx6

M6

Ax2 Bx2 Cx2 Ex1 Fx1

mm
inch

x2

M6x 0.6
15

Rx16

M6x 1.1
28

Sx2

M6x 1.5
40

Tx16

M6x 2.3
60

A1x2 Dx2

Hx2 Lx2

Ox1

AA

A1 A1

B
B

C

C D

D
G

HH

G

U
V

E F

I

Ux1 Vx1 Wx4

W

W

W

W

Xx8



5

01

02



6

03

D
one

X

EN_Before use, be sure to ensure that the product columns have been reinforced accordingly (expansion 
screws/ground nails) .
FR_Avant toute utilisation, il convient de s'assurer que les colonnes du produit ont été renforcées en 
conséquence (vis d'expansion/clous de sol) .
ES_Antes de utilizarlo, asegúrese de que las columnas del producto se han reforzado convenientemente 
(tornillos de expansión/clavos de tierra) .
PT_Antes de utilizar, certifique-se de que as colunas do produto foram devidamente reforçadas 
(parafusos de expansão/pregos de solo) .
DE_Vergewissern Sie sich vor der Verwendung, dass die Produktstützen entsprechend verstärkt sind 
(Dehnschrauben/Bodennägel).
IT_Prima dell'uso, assicurarsi che le colonne del prodotto siano state opportunamente rinforzate (viti a 
espansione/chiodi a terra) .



7


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

